0D >
AN
= O

Q@2
SN
< 2 I

14

Q £ @
==
Wee o

—
=
1<
|

U-12 AXEMDET Y N—K= 108288 (B)
RS &) —2D XIBFERES S (Mo —BraE~REa Ui —me)
=15 )\ELWER s 5 B 1253-39-12%3 RIS 830 | ~ | 1600
SRE F OB |ABBEO| ZID (8| 8| mn|ex|me 12EETS| 845 XT38 =Y
R = : - 1 930 [MI| & & |ABE-D| =0hxk | J\E
FREFE— - - 2 10115 3R] |ABE-D| EWdR | & B |BH$E_
Z{Ychh : - 3 1100 [3RI| & E | ZpdR (BASE-D| J\ &F
}ARI~BMIFETERE, (1IF—ADEE) RIS 11:30 ORI —TRERO
1253-39-12%3 | | 8508 1145 XT38 Z2|
Sl WOFE | J\ & | J\EFdL |FEBB0)| 8| 8| 2 || x| 4 1230 |ZI| WHF | J\ & | & B |@H$E-
MOES - - - 5 1300 |0 | J\&Fd |BHBE=2| ZpldR | LOF
J\ F - - - 6 1345 |Z0| WOFE | J\& | J\ & |BHE=0
J\EFL - - - 7 1415 |0 | J\ & |BBE-0| WoF | J\&H
mw— - - - 8 1500 |ZI| WoF |BHE=0| J\ & | J\&
Of1RE (1HIF—ADSE) o 1530 30| J\ & | J\#dt | LOF |BSE-Q
ORI —TRER®
=i SDENER S 4 B 129-39-129
REET | PTU—L| B Bl | BHE B8] D |ma|ex|mm RIS 900 | ~ | 1610
P =L - - S ASME DA BESTS| 910 XT38 _ Z22|
= - - BEXERL 2 1 930 [RI|PTU—L| E U | BAT | 20H
BHE - - =b, 2 1015 |RI| = B | &S |7JU—L| /\&f
}ARI~BMFETERE, (1IF—ADEE) 3 11:00 [RI|PT7U—-L| SHE | = 1 | 7
B8 | 11:30 ORB I —TFERO
357 | SO | 7 FiEE | BONITA | J\BFFE  [B5|8| 5 [ma|ex|ee| |i8FS| 1140 XT38 2|
=20 - - = - 4 1200 (XX =20Df iz} PT)—=U| E
i - - - - 5 1225 | 1| FigE |BONTA| BHE | 7
ESHES : : : - 6 1250 |Z1| =i | /\F8 | FigE | BONITA
BONITA - - - - 7 1315 |21 | 7 FigsE | =oa | /\EF
J\EF7H - - - - 8 1340 |Z1|BONITA| /\&fFG | 7§ Frgss
XARI~BMIFETERE (1MIF—ADEE) 9 1405 |1 | @A | FWE | BONITA | J\&tF
XBROBEFE TR U—JDRAEBREIERBLTNET 10 14:30 |32 1| 7 BONITA | Enfh | FEs
11 1455 |X1| FWwsE | /\$fFm | 7 BONITA
12 1520 |ZX1| SmE |BONTA| FEsE | J\&5
13 1545 [321| J\#FFE | =A | BONITA
ORI —TRER®

15
45
30 15
30 15
30
15
45
30
30 15

30 15
30

10
20
30 15
30 15
30
10
20



